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In the Name of Allah
Grade 12 Final English Exam Sheer Tohid Boys High School Dubai, UAE May, 2010

Student Name: Sen'r Number- Time: 75 Mmu'res

ket et " - A . e detedeiehririeien

(VOCABULARY) (11 Points)
Fill in the missing parts with words of your own.

1) A one-word synonym for "strong feeling or ldea left by an experisnce or effect

orimprint 18....c.cseaeere..
2) A one-word synonym for the word "bother” in the following sentence is
Other children in schoo! bothered Thomas.

3) The transmission of signals over a distance for the purpose of communication
Is called.....cccccemvecinren
4) A place where a person is going or a place where something is sent Is called

---------------------

~ 6) Chl!dren who are forced to work are sOmelimes ..cccivicrcaran of their rights.
! 6) The system which includes the Stm and all the celestial bodies that orbit the
| Sunisthe............ «.System,
7) A robotvehicle used in order to explore deep space Is called
8) Aparsonwhois leamirtg ajobis ca[led .................... , for which " trainee and
" pupll” are synonyms.
9) Children who live /n c/ftles and are forced to work in trade and services are
........ SN . {1} )¢ -1+

10) Travelling to or around space to learn new things about space Is called space

-----------------

11 ) Russla wraesrrsaenensensrrSPUINIK | In 1957; they sent it as a spacecrait Into space.

Fill in the missing parts with the given words.

(chservations, duty, actions, private, compose, trade, vacation, soris, ports, devoted, willing,
domestic, magnify, terrify, astronaut, convent, missianary, addictive)

12)Child laborers do all ......... vessbetnmaas of work.

13)There are SOmMe ......cceersrserses taken by some organizations to stop child labor.

14)Work done overa ........... ... 10 learn about a specific kind of work is not
child labor.

15) Rurai child laborers are more found In agriculture than in
cenernrsessaerses SOIVICES,
16)11:13 sald that vossassa v in cave paintings and rock art recorded by
people who lived thousands of years ago are very Important and interesting.
17 Telescopes help ........cocvan.e..distant objects.
18) A travetier in a spacecraft who travels to space to look for new information is

aan ociasiiin ereanecs
19)ltis easy to ........ ertanenee and send mail, butyou should be careful since itls
20)‘?1?5 physk:lst ............................ his fife to research on physics.
21)A building for nuns is called a/an ....... srrsrursesnenases

22)Edison's mother was his ............ .,......teacher at home.




(Structure) (8 Points)

Rewrite the following sentence with whereas.

23) Jane Is a very quiet girl; however, her little brother is very tatkative.

Combine using the words in parentheses.

24)Mary wrote down our address. She didn't want to lose the way to our home. (so as to)

------------------------------ arsnassvssrErIne

26) All my family members exercise regu!arly We want to remain healthy. {so that}

YT EFTTY ¥4 shanse - AEEAIILRLNTSLITEI SRS NSORS AP BRI EE LS SIRLEERTIELD e

26)Ben is an engineer. He doesn't know detalls of computing. {although)

[TTTEY AssnEEretanhe sy Trssrenesen

Select the best choice to fill in the missing part.
27)We are not sure why mother Teresa devoted her life to poor people; she

........ vuuseciatve lived In a poor family hersolf.
A. shouldn't B. might C. must D. should
28) Jake has never been absent during the past 24 previous weeks; yesterday he
was absent for the first ime this year. He ... eeeeneiicaiens an accldent ora

terrible cold or something like that.
A.might have B.should have had C. shouldn't have D. must have had

Fill in the missing part using the words in parentheses.
29) Don had a final exam on SLmday He only watched TV and played computer
games on Saturday, He ...........c... resvesninrnsassesese ....his lessons. (should study)

Rewrite with shouldn‘t.
30) Jack emalled his teacher so many times, but it would have been better not to do so.

srawisat ragBERESTARIND
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(Reading Comprehension) (11 Points)

Read the texts and answer the questions.

Doing extreme forms of work dangerous for their health, most child laborers around the
world are being robbed of their rights. ‘
31) According to the above sentence, .
A. most child laborers are robbers
B. most children are right laborers
C. many child laborers don't receive their rights
D. many chiidren do exireme forms of work

Children are easier to discipiine, more willing to work and often unable to form unions to
protect themselves the way adults do,
32) We can understand from the above sentencethat .....corvverermnneneeee.
A. children work more than aciults do
8. adults like workdng more than chlidren do
C. aduits usually form unions to protect themselves
D. children are unable to work

Using local technology, the former Soviet Unlon launched Sputnik I, an artificial satellite.
33} We can infer from the above sentence that....
A. the Soviet Union exists B. Sputnik was & natural body
€. Russians made Sputnik D. Soviet Union is artificial

The Internet brings together the best quaiities of the communications systems used before
and improves on thelir features. Examples of such systems are malls and newspapers.
34) The above sentence shows that.... -
A. “mall” is a new ldea 8. systems in the past were very effective
C. newspapers are examples D. the idea to use *mail” is old

In 1948, Mother left the convent school and devoted herself to working among the poor in the
slums of Calcutta. She had no money, but started an open-air school for homeless children.

36) We can understand from the above sentences that. -
A. she had no money to start a school
B. Mother was not a nun after 1946
C. she felt a duty to help the poor
D. Mother disliked the homeless children

The Apollo missions landed 12 humans on the moon bstwesn 1867 and 1972,
36} According to the above sentence, the missions were.
A. flights B. voyages C. Vikings D.

Ploneers

One way to stop ohild labor Is encouraging soolal mevements.
37) From the above sentence, one can understand that
A. soclal mevements may have the potential to stop child [abor
B. social movements are not encouraging
C. we should not encourage social movements
D. chilld labor may stop sooial movements




Read the following passage and answer the questions which follow.

Thomas Alva Edison {February 11, 1847 —Ot:.'tober 18, 1831) was an American inventor and
businessman who developed many devices that greatly influenced life around the world,
including the phonograph and a long lasting light bulb. Dubbed "The Wizard of Menlo Park”
by a newspaper reporter, he was one of the first inventors to apply the principles of mass
production to the process of invention, and therefore is often credited with the creation of
the first industrial research laboratory.

Edison is considered the most prolific inventar in history, holding 1,083 U.S, patents in his

name, as well as many patents in the Unlted Kingdom, France and Germany. _
Thomas Edison was born in Milan, Ohio, and was ralsed in Port Huron, Michigan. He was the
seventh and last child of Samuel Ogden Edison, Jr. {1804-1888) (born In Marshalltown, Nova
Scotla, Canada) and Nancy Matthews Edison nee Elliott (1810-1871). His family was of Dutch
origin. .
In school, the young Edison's mind often wandered, and his teacher, the Roverend Engle,
was overheard calling him "addied.” This ended Edison's three months of officlal schooling.
He recalled later, "My mother was the making of me, She was so true, so sure of me; and | felt
| had something to live for, someone | must not disappoint.” His mother then home schooled
him.
On December 25, 1871, at the age of 24, Edison married 16-year-old Mary Stilwell, whom he
had met two months earller. They had three children: Dot, Dash, and Leslie. Mary Edison died
on August 9, 1884.0n February 24, 1888, at the age of 38, Edison married 20-year-old Mina
Miller in Akron, Ohto. They also had three children: Madelelne, Charles and Theodore. Mina
outlived Thomas Edison, dying on August 24, 1847.

38B) How long did EdISON BveT......cermceiicinsvmmisniirssinsisersessessssassarsasessenss

39) What was he called/iitied in Menlo Park?..........ccurmrivmmcicmorsssecneisrmenininiisison

40) How many wives and children did EdIson have?......c.omiirimi i,

41) Edison died sooner than his second wife. (True/ False / Not mentioned)

42) Edison loved his father. (True / False / Not mentioned)

43) Edison had both daughters and sons, (True / False { Not mentioned)

44} Edison had more inventions than anybody else in history. (True / False / Not

mentioned)

45) Edison was an unsuccessful school student. (True / False / Not mentioned)

48) Edison’s early family rooted in the Netherlands. (True/ False / Not mentioned)

47} Edison had exclusive right of many inventions from at least four countries.(True !/

False | Not mentioned)
48) Edison’s inventions didn't influence modern life. (True / False / Not mentioned)
WE WISH YOU GOOD LUGK
OMRANNOORIGIGHAIL.COM
WWW.OMRANNCORLBLOGFA.GOM
dubbed: named
Wizard: whiz; genius; magiclan S sy 1434l
apply; implement (hay IS4y

prolific: frultful, productive; abundant, plentifuld!s) A ciy) L

patents: exclusive right to an invention or designg | A8! (g jlasd) Sl

Butoh: of or pertaining to the Nethorlandsgailh

wander: move aimlessly; loss one's way; go astrayOsh Qua 31 1 38l sl o gt
addled: muddied, mentally confused; spolled, rotten <1y ol 1S

origin: root

outlive: live more than; dle after

overheard: heard many times
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One of the greatest victories you con gain over someone is to beat him at politeness.
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VOCABULARY
A. Fill in the blanks with the given words. (5 points)

(distracted, phoned, emphasized, efficent, project, predict, rely, environment, extinction, varlety, keeps)
1) Ifyou could.......... your volce when you are making 2 speech, t would be more effective.
2) The Differential teacher..covvnveenereiniannns some exam questions.
3) The..corererinne oo of some plants is a potential danger for the environment.
4) Ttis not slentific 0. oereiiinninnensiniininsd the future.
5) The surroundings or condttions in which someone or something lives make up the ...
6) Thethief.......the bystanders drawing their attention away from what he was doing.

7) They have planted 2 wide coveeirveiiencnns of flowers and shrubs in thelr 500-meter garden.
8) Youcan .......on government funding; the government certainly gives financial support.
9) Doing reqular exerclse ..vevrivrerrissirennan: you healthy and fit.

10) The English teacher uses .............. techniques to improve the overal| general English

proficlency of his students; whatever he does in the classtoom are effective and fruttful.
B. Fill in the blanks with words of your own. (3 points)
11) T he general weather patterns In a region over 3 period of time are called............

12) Children have ....ovvveiivererninnene arms and legs, easily bent and stretched.
13) Energy that comes from thesun is called .....ooveveenee

C. Select the BEST choice to fill in the blanks. (1 points)

14) The farmers are not allowed 10 .vvveveerenns the trees although they need the woods.
A fall B. tise C. risk D. fell
15) Not all people are strong enough to ..c.ccverieienennn, eatthquakes.

A. survive B. shake C. shoot D. spread
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D. Select the BEST cholce to fill In the missing parts In the following sentences. (2 points) T
16) The mathematics teacher did not let the students ......... questions while he was teaching.

A, asked B. asks C.ask D. asking
17) The activities ..cvoeverreenn. in the classroom are all effective.

A.do B. doing C. done D. did
18) HWas ...evnevrneenernifunny joke that we couldnt help laughing.

A.so B.such a C.too D. enough
19} The English lesson was........oceveinnn, for me to understand.

A. enough easy B.tooessy C essytoo D. easy enough

E. Write the correct form of the verbs in the brackets to fill in the missing parts.

(1 point)
20) People..onnriinriininnn: trash are punished In some countries. (produce)
21) You can Improve your English by ....oocvviiiiiannnnn, hard. (practice)

o F. Reduce the adjective dause in this sentence into an adjective phrase. (half a point)

22) Factorles which burn coal and ofl help increase pollution.

G. Combine these two sentences into one with the same meaning. (1.5 points)

23)Sue and Jane were very frightened. They couldn do anything to save others. (too)

24)The English teacher speaks English In class. The students don*t ltke it. (whether.....or)

------------ R N N R T

FUNCTIONS
H. Identify the FUNCTIONS of the following sentences. (1 point)

25) Global warming is the average Increase In the earth’s temperature. Covvvivveicninnnae )
26) Keep eye contact for five secands at a time and then move to someone else. (.............. )
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READING COMPREHENSION f o'})/)y
I. Read the following paragraph and fill in the missing parts with the given -

words. (3 points)
(involve, faces, firmly, concentrate, nervousness, occasion)

Here are some ways which help you give a good speech. You should ......27...........on giving
your speech to some friendly faces. You should alsostand ......28............. because good posture
shows confidence. Friendly facial ......... 2. help to build 2 warm and posttive relationship
with your audience. Your choice of clothing forthe ......... 30..........Is also very Important. You
should ..o 31.......your audience by asking questions, talking to them directly, and getting
them Interested. A little humor in your speech lets the audfence know that you are human and
trustworthy. You should use your ........32...cc0e0nn to add excitement to your speech.

J. Read the following paragraphs and select the BEST choice to fill in the missing

parts, (6 points)

The earth s made up of three main [ayers: the crust, the mantle, and the ......33...... The plates of
the crust ......... Bl on the soft, plastic mantle below. The plates of the crust stick together
and create pressure. The pressure increases and the rock bends until it breaks. When this happens,
an ......35........1s the result. Earthquakes may shake houses, ......36.....windows, and change the
place of small things. Luckily, most ......... 37.......earthquakes occur in less populated areas.
People should plan emergency ......... 38......., and make plans for your family to get together.

23) depth B. surface C. half D. core

34)walk B. float C. put D. flood

35) expetience  B. experiment C. excltement D. earthquake

36) launch B. land C. rattle D. react

37) fortunate B. reasonable C. emotionless D. destructive

38) procedures B, damades C. departments D. artificial
Sclentists are sure about the ......... 29... effect. They know that methane and carbon dioxide
make the ......40....... warmer, They doso by .....41.......... heat in the atmosphere. This causes
...... 42....warming and this may have results: 3 ...43.......In sea levels, and different effects on
plants, wildlife, and humans. We can makea ......... 44....if we do our own particular parts.

39} A. earth B. greenhouse C. weather D. global

40) A. sky B. region C pattern D. earth

41) A. planting B. trapping C. polluting D. proving

42)A. general B. graphic C. giobal D. green

43) A. rise B. risk C. right D. rain

44)A. respect B. repetition C. distance D. difference

T B
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One of the great&st vI;:ortas you can galn over someone Is to beat him at politeness, v ' ey
K. Read the following sentences and select the BEST choice to complete the PR
sentences. (1.5 points) N jb/f/ _)/

When you exercise your body releases endotphins, chemicals that create 2 happy feeling. féﬂ) Y,
45) According to this sentence, ..o

-

A. happiness has a chemical basts B. endorphins help better exercise ~
C. exercise doesnt affect emotions D. chemlcals make us happy

Humor ain make the difference betweer; an average and an excellent speech.

46) According to this sentence, .o,

A. average [ectures are humorous
B. humot can make 3 speech excellent
C. an average speech is better than an excellent speech
D. different lectures are humorous
No greg on the earth is entirely free of earthquakes.
47) According to this sentence, ...oovevvevii it
A. In some parts of the woHd, earthquakes never happen
B. earthquakes are free everywhere
C. the earth is free of earthquakes
D. earthquakes happen in all parts of the world
L. Read the following passage and answer the questions followed. (4.5 points)
There are 1,440 minutes in every day. Schedule 30 of them for physical activity!
Regular exercise Is a critical’ part of staying healthy. People who are active live longer and
feel better. Exercise can help you maintain? a healthy weight. It can delay3 or prevent
diabetes, some cancers* and heart problems.
Most adults need at least 30 minutes of moderate® physical activity at least five days per®
week, Examples include walking briskly?, dancing, swimming for recreation® or bicycling.
Stretching and welght training can also strengthen® your body and improve your fitness
level.
The key is to find the right exercise for you. If it is fun, you are more likely to stay
mativated™©. You may want to walk with a friend, [oln a class or plan a group bike Hde. If
you've been Inactive for awhile, use a sensible! approach® and start out slowly.

48) To keep healthy you need to exercise. (True / false, not mentioned)

49) You don't have a better feeling if you exercise. (True / false, not mentioned)

50)An average adult person nheeds 2.5 hours of mild exercise each week. (Ttue / false, not
mentioned)

51) Planning a group blcycle ride is 3 helpful cholce for you to make friends with sports
people. (True / false, not mentioned)

52) Exercising affects your weight. . (True / false, not mentioned)

53) The word it in line 3 refers t0 vovvvvrrvirrnnreeinnnessinn
54) How long should you exercise daily to keep fit? ovooviiviiiiinicnnioninenn,

We wish you good luck
o 0ori@ .CO
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Dictation: Fill in the blanks with appropriate letters. (3 points)

1 z
. .When a kett-¢ is boiling, ste-m comes out of it.

= 4
.The moon shi-es in the sky dur-ng the night.
IR .
. They inv-ted us to dinner. I was se-ted near the host.

. The police didn't re-eive any mesSa-e from the lost man.

.. 7 . ‘ 1o .
. He lives in a forei-n country, but he can't underst-nd their language.

1 1z
. We heard a lo-d noise and a sno-plow came down the street.

_Fill in the blanks with the words in the box. (There is one extra word). (4 points)
entire —guest— get lost — feed — summer — ripe — vegetables — worship — deep |

13. The hottest season of the yearis .....oeenevieiiiinennn

14. Onions, potatoes, and tOMAatoes are ......oceevvereiieniaes

15 We can eat fruits whenthey are ............oooviiiiind

16. The birds can find their way easily. They never .........cceoeevinn
17. Ispentthe ..ccoovvirininnnnnnen. day on fixing my car.

18. Muslims c.oocvvnviriiininnnnnn. the One God.

19. You mustn't c.oovvenveninnnnnns the wild animals in the zoo.

20. This part of the river is very ...........

~Write the opposite of each of the following words. (1 point)
2l.rich #....... 22. friend #.........

-Fill in the blanks with the words of your own. (1 point)

23. The table is too heavy. I can't .......... e it.
24, TtiSOUr .o iriininnenanns to keep our school clean.

-Choose the best answer. (2 points)

28. Ishould ..oooeiiiiiiiiiis my shirt. It is dirty.

a. fix b. change c. sell d. find

26. A: What ishis c.oeevininn, 7 B: He is French.

a. nationality b. country ¢. nation d. century
27 e, means going from one place to ansetier.

a. migrate b. mystery c. discover d. migration
28, Water turns into ..oovviiiiioaanns when it is very hot.

a. ice b. fire . cream d. pan
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-Choose the best answer. (2 points) - ‘ R
29 James Watt built the first steam engine, ....coeovvvnenennitenl?

a. does he b. did he c. doesn't he d. didn't he _

30. The sickman ...................... to the hospital last week. '

a. was taken b. took c. is taking d. takes

31. We have waited here ................ 3 hours.

a. since b. for c.at d. on
32. His grades are good because he ............. vveesenns carefully.

a. have studied b. had studied ¢. has studied d. was studied

-Put the following words in the correct order. (2 points)
33. the newspaper — carefully — H-: — every day — reads.

34.1- lives — think — he — that ro« m — in.
-Complete these sentences with short questions. (1 point)

35. You can't speak German, ........c.c.veeeeiennannnns ? |
36. They live near here, .......... ... e ?

-Read each sentence and choose the best answer. (3 points)

37. "Host" means a person Who ............eceeuene
a. receives others as his guests

b. knows all the other peoples

c. goes to a party

d. likes to talk to everybody at a party

38. "After our Holy Prophet began to preach Islam, people of Mecca turmed against him.”
From this sentence we understand that: People of Mecca .......ocovvvenennne.

a. were the followers of the Prophet

b. did not want the Prophet to preach Islam

c. asked the Prophet to preach Islam

d. did not want him to worship idols

39. If we don't know the language of a foreign country, we ............ e
a. can't eat anything at restaurants '
b. have to leave that country

c. can't find any friends there

d. may have a lot of probilems

- Look at the pictures and answer the questions. (1 points)
40. What has he done? {(buy) .

...........................................................

[+

¥



- 41. What is she doing? : !

-----------------------------------------------------------

G: Write the correct from of the verb in parentheses. ('l‘points )

42) Maryam' ......... rrerainiens her pen in school yard yesterday. ( lose )
43) Could your brother ............... -+ @ car last year 7 ( drive )} A
~-Match the qu%*tidns in column A to the correct answers in column B, (3 points)
A B ‘

44; _Where's Mary from? ......... ’ A:Heis quite good-looking.

45. Which one is Mr. Amini? ... ...... B.Iweigh about 60 kilograms.

46. What does Reza look like? ......... C. She works at school. -

47. How much do you weigh?.......... D. She is from England.

48. Would you bring me some water, please? .........

o ) : E. He is 2 mechanic.
49. What does he do? ......... F. Yés, of course.

| | - G. He's the tall man with black hair.
~Which word has a different sound?(1 point) B o
50. a)should - b)good . c)put - d)fool

51. @)sign  byboil  c)my dcry

—

-Read the following passage carefully.

Joe Richards finished school when he was 18 years old. o
. His father told him, "You have passed your exams J oe, and you got good marks in them.
- Now go.and find a good job." ' - -
A few days later, Joe went to the bank and asked for work there. ,
A man took him'into a small room and gave him some questions on a piece of paper.
- Joe wrote his answers.on the paper,and then he gave them to the man, - . . ,
The man looked at the answers for a few minutes, and then he asked Joe, -
"Your birthday was on the 12th of April, Mr. Richards?" "Yes, sir," Joe said.
- "What year?" the man asked. '
"Oh, every year, sir," Joe said,

-Now answer the following questions. (4 pbihts) "

52. Where did Joe go a few days later?

53. When did Joe Richards finish school? .

54. What did the man do when Joe went to the bank?

55. Joe Richards passed his exams with good marks. True/False
56. Joe Richards was born on 12th of June.. True /False

. ’&u?;i-iua.k
B /__.———-—;- .
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A-Dictation: ( 3 )

We do not expe .t them to talk aboyt their he. dac ..The way
people gr.. ? teach other may be d..fferent from one language to
an”ther .They made la.& so that children wouldn’t have to work so
hard, Their bosses were cr. el th them.It was a ’ce::8 1ble life for

| the% At nig.3.t the city is 1. k3 up.Later other spa. esh. .ps took more
pic...ures.

B-Vocabulary(4) choose a word for each sentence.
COach-lookslike—law—getup-scaredfgreeting-bowl-dolls

1-Im not hungry.Ill have only a........... of soup.

~ 2-The golden........is pulled by tiny horses.

3-In many languages a question is used as a........ ereaens
4-Is smoking against the ........... ?
5-I woke upat six,but I did not ......... till 6;30.

6-Little girls usually Jike to play with their.........
7-Why is the baby crying?] think the loud noise.......him.

8-Ma1'y ....... youi' sister.Both of them are pretty.




C-Complete these sentences with your words.( 2 )

1-A few years ago war was a good:........ for conversation.
9.1 did not make that dress for Mary,she made it .......... _

D-Choose the best answer;( Z )
1-I will give you a good....... if you get good marks.

ayreward b)puzzle c)letter d)number
2-There was an old........... in our school yard.

a)cake b)spoon c)tree d)shirt
3-A person who is.......... does not want to work.

aywise. b)lazy c)busy d)nice
4-People say that he has a.......... idea.

a)correct b)exact c)fixed d)little

E-Choose the best answer: ( £ )

1-Mr.Smith had to cook dinner................

a)herself b)himself ¢)themselves d)itself
2-The car.......... is parked there is mine.

a)who b)that c)whom d)whose

3.She is not at home ,she will come back.....Monday.
a)on b)at c)for d)in

4-My friend has a dictionary.Itis............
a)her b)hers c)their d)your

F-Put these words in order and make a sentence.( Z )
1-keeps / bird / a/ He /cage / in /the /

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooo




G-Answer the questions:( 2 ) %
1-Is there any water in the glass?

-----------------------------------------------------

oooooooooooooooooooooooooooooooooooooooooooooooooooo

H-Write the correct form of the verbs: ( 2. )
1-They want..........c..oous this town.(leave)

2-Ifhe......... you are here,he would come.(know)
3-Who........... the dishes last night?(wash)

4-Where are the boys........... now?(play)

I-Language function:Match the sentences.( 3 )
1-Have you got any money?  A)It’s a beautiful city.
2-Whats Shiraz like? B)yes,here you are
3-May I helo you? C)YNo,I have not.
4-Would you mind opening the windos? D)Yes,please
5-Whats the weather like in Ahwaz? E)No,thank you
6-Is there a better one? F)Of course not

J-Pronounciation( )Match the words with the sounds:( 1)

Who ear  bird could (Ui 3t U &)
s A 2 3

ot ot

K-Mini comprehension : ( 3 )
1-Charles Dickens knew----------

a)that Olivers life was very hard.

b)a lot about Olivers family.

c)that many children have a hard life.
d)that the little boys enjoyed working hard

W




2-There is no air on the moon,so we canot
a)take photographs there

b)send spaceship to the moon

c)see the other side of the moon

d)live on the moon

3-Hiccups are _ .
a)very funny b)likeacold cnotliked at all d)never cured

L-Comprehension:Read this reading and answer the

questions.( 3 )

Mina has got a good camera.She likes taking photographs.She
likes color photographs because they are more beautiful than black
and white ones.She loves photographing of the flowers in her
garden.She also likes photographing children .

It is not easy because children move fast.Some of her
photographs are very bad .When people want to see her photograph
,she shows them her good ones.

1-What does she do with her camera?

2-Whay is it difficult to get pictures of chidren?
3-Does she show people all her photographs?

( True-—-False )  2)

4-There are many flowers in her garden .( )

5-Her photographs are always good. ( )

GOOD LUCK
~-—FEnayatizade——
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In the name of God
A:Choose the best option(2 points)

1A group of people having same religion,job,etc.are a......

a)unit b)community ¢)missionary d)government
2)Devices that are kept in the hand are called........... devices.

a)handmade b)handheid ¢)hand picked d)handle

3)When computers and communication technology are ......... the result is IT.
a)changed b)stored c)transfered - d)combined

4)Serious hearing problem may have been the reason for Edison’s poor............
a)performance  b)instruction c)processing - d)projection

B:Read the following passage and fill in the blanks with the best choice.(5points)
Child labor was the practice of employing young children in factories. Now it refers to the
employment of children in general,especially in such work that may ...5...... them from going
to school,deny their basic rights, including not only the right to ...6...1o the highest level
through ...7... but also the right to a (an) ......8.... It can be dangerous for their ...... 9.0
This may include working in trade and services for......10....... children and working in

For rural children. The most important reason for child labour is thought to be
...12.... In all cultures, there are children who join their parents to work to...13......more
money. In the past few years ,some international ......14...... have made good plans to
control this problem. |

5. a) prevent b)provide c)present d)pretend

6. a)locate b)hire c)develop d)protect

7. a) education b)movement. c)living dyworking

8. a)individual b)childhood c)adulthood d)artificial

9. awork b)health c)family d)union

10. a)country b)rural cyvillage djurban

11. a)agriculture b)industry c)trade d)construction
12. a)employment b)poverty c)education d)society

13. a)pay b)lose cywin d)earn

14. a)hospitals b)schools c)organizations  d)churches
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C:Word Definitions :

Match the definitions in column A with the words in column B.(There is one extra in column
B.) (2points)

(A) (B)
15 on the other side of something a. attach
16.join one thing to another b. apprentice
17.The amount of material in sth. ¢. beyond
18.the person who is learning a job d. suffering
€. mass
|
. D. Reading passage:

Read the following passage and match each paragraph with one of the hcadings{main

ldeas).wnte the letters (A,B,C,D,E)in front of the numbers of the paragraphs.There is one

extra option.(2 points)
. Headings (main ideas)

(A) Eat healthy and together

(B) Consider vitamins and supplements
(C) Be alert for allergies

(D) Exercise together

(E) Stay safe in the sun

1[9) These days ,there are a lot of sedentary entertainment activities that both adults and children
take part in,such as playing computer games,surfing the internet and watching television.Indulging
in these pastimes can result in obesity. Try to find activities for all the family to enjoy,like agame
or football in the park,a badminton match on the beach,a swim in the sea,or a walk along the
corniche.(......)

l
20) If you do not have a balanced diet,or you follow a vegetarian diet,you may need to take
additional vitamins or supplements. If fish is lacking from your regular meals,for example,Omega
oil supplements can be taken to promote your health and to keep your joints supple.(.....)

|

21)Some sun exposure is beneficial,as its rays are a primary source of vitamin D.This substance
helps us absorb calcium for stronger,healthier bones.Too much sun,however can cause the skin to
burn and lead to cancer. ( )

22)Everyone should eat at least five portions of fruits and vegetables a day. The easiest way to

achieve this is to include at least one fruit or vegetable portion with each meal.Eating together as a
family is a great opportunity to encourage children to try new foods.Taking the time to talk to each
(i)ther at mealtimes can help reduce stress levels.(......)
E. Reading Comprehension

Read the following passage and answer the question as required.( 6 points)
| The average woman in England earns less than the average man. She is usually employed in a
lower-paid job and she doesn’t have same salary. She isn’t promoted as often as the average man,
and she isn’t offered the same training.
| _
' In addition, most women are not educated for a job. At university, there is a high percentage of
women studying subject like langnages and literature(68%),but in engineering, technology and

| medicine the number is only(7%). Women are not interested in mathematics, either.

I Education is the only career subject with a high percentage of women. Teaching is a job which a

{ lot of women choose. But teachers are not paid very highly and men are usually offered the best
| posts.

¥




23) In England, women usually earn .........ccoooveveiinennnns .
a. more than men b.less than men
¢. a large amount of money d.nothing at all
24) In which field of study women are studying more at university?
a. Mathematics b. Engineering and Technology
¢. Medicine d. Languages and literature

25) According to the passage, in England ..........c.ccvvnnnnne .
a. women work harder than men
b .womnien and men are not treated the same.
c. women are richer that the man
d. women are usually poor
True / False/ not mentioned

26) In England, a large number of women are not educated for a job.(.....)
27) Women choose teaching because they love children.(.....)

28)The passage tells us that good posts are offered to women.(.....)

29) According to the passage, many teachers are women.(.....)

What is the meaning of these words in the text.
30)training 31)promote

F:Sentence Function:
Complete the following sentences using the text.(2points)
32)Examples of the subjects which women study in a low percentage at universities

------------------------------------------------------------------------------------------

G:Sentence comprehension: Read the following sentences and choose the correct .choice.
(3points)

34) Three months after starting school Edison ran away. His mother was forced to teach him at
home. |
We understand from the above sentences that Edison......c..cevvcvvirinennns .

a. was not educated at all

b. was forced to go to school by his parents

c. ranaway from his house

d. went to school only for three months
35) Postal mail takes at least a day-often a week-to get to its destination, and you must have
envelopes and stamps, and find a mailbox, while e-mail doesn’t.
We understand from the above sentence that e-mail
takes a day to get to its destination
requires you to have envelopes
requires you to find a mailbox
arrives faster, and doesn’t need a stamp

------------------------------

oo

36) The term “Internet” and “Web™ are ofien used interchangeably, although this in not really
correct. The World Wide Web (or just the web) is actually one special area of the internet
according to these sentences:

a. The web is located in the internet

b. Internet in only a part of the Web

c. Internet and Web are the same

d. Without Web we can’t use Internet
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H:Make the items in eolumn (A) with the appropriate phrases in column (B)to make
meaningful sentences. There in one extra jtem in column (B) (2 points).
A B

B‘T’?) You can do a lot of things to

| improve your English......

38) A space probe in a robot vehicle...
39)Employers may hire children.....

i d. such as listening to tapes, reading
texts and watching English films.

a. used in order to explore deep space.
b. that orbits another objects.
c. because children can enjoy their childhood.

140) A satellite is any natural body...

; e. because they can pay them less
|

;
I:Choose the best option: (2.5points)

[41).eeennens the Internet provide many services ,it has its own problems too.

a)But b)Even though ¢)Since d)Because

42) il - most of my friends go to school by bus ,I usually walk to school.

a)After b)While ¢)When d)Since
| 43)Mina fell asleep in class this morning.She ... ... : too late last night.
| ‘a)must have stayed up b)must stay up c)should have stayed up d)should stay up
| 44)He phoned the police station ........... report the robbery.
1 ia)in order to b)so that C)so as d)in order that
| 45)Mary was late for school. She .......have got up earlier.
| a)must b)might c)should d)may

J: Combine the Jollowing sentences with the words given in parentheses. (1.5poini)
46) Reza is going to the bookshop. He wants to buy some books. (In order to)

.........................................................................................................

2}7)A]i has plenty of money. He doesn’t help the poor.(although)

3}8) I wrote down his address . I didn’t want to forget it.(so as)

| |
K:Complete the following sentences.(2 points)
49)While peter works very hard,his brother.......cccvevvvaiveeerereanerencneenens

$O)The main difference between reading a newspaper and reading the news on the web

gaoa,/ /MA




lad ol 4y - —~
bdala o158 O jlal 8 Ol b ol (5 gt e hte ol g g
080 Lm0t 4 gal b (el Aad
U1 A 2 5 A DAl (ged ) §AT Autiid

AS/Y/Y ¥ soionlal fo 0 % 4BB 8« poladalcade | ALK (ghge diaad Al : Salpld ali g ols
e pild: o ol Yda i Gl s gl s s f-P
s i Laal D g 4o pal P 4904

In the name of God i

A:Choose the best option(2 points)

1A group of people having same religion,job,etc.are a......

ajunit b)community ¢)missionary d)government
2)Devices that are kept in the hand are called........... devices.

a)handmade b)handheld c)hand picked d)handle

3)When computers and communication technology are ......... the result is IT.
a)changed b)stored c)iransfered d)combined

4)Serious hearing problem may have been the reason for Edison’s poor............
a)performance  b)instruction c)processing d)projection

B:Read the following passage and fill in the blanks with the best choice.(5points)
Child labor was the practice of employing young children in factories. Now it refers to the
employment of children in general,especially in such work that may ...5...... them from going
to school,deny their basic rights, including not ‘only the right to ...6...to the highest level
through ...7...,but aiso the right o a (an) ...... 8....
This may include working in trade and serviceé for...... 10....... children and working in

It can be dangerous for their ......9... "
For rural children. The most important reason for child labour is thought to be
...12.... In all cultures, there are children who join their parents to work to...13......more

money. In the past few years ,some international ...... 14......have made good plans to-
control this problem.

5. a) prevent b)provide cpresent d)pretend

6. a)locate b)hire c)develop d)protect

7. a) education b)movement c)living d)working

8. a) individual b)childhood ¢)adulthood d)artificial

8. awork b)health c)family d)union

10. a)country b)rural c)village d)urban

11. a)agriculture bYindustry c)irade d)construction
12. a)employment b)poverty cyeducation d)society

13. a)pay b)lose ciwin d)earn

14. a)hospitals b)schools c)organizations  d)churches
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C:Word Definitions :
Match the definitions in column A with the words in column B.(There is one extra in column
B.) (2points)

| (A) B)
15.0n the other side of something a. attach
16.join one thing to another b. apprentice
17.The amount of material in sth. c. beyond
18.the person who is learning a job d. suffering
€. mass
D. Reading passage:

ead the following passage and match each paragraph with one of the headings(main
Ideas) -write the letters (A,B,C,D,E)in front of the numbers of the paragraphs.There is one
extra option.(2 points)
Headings (main ideas)

(A) Eat healthy and together

(B) Consider vitamins and supplements
(C) Be alert for allergies

(D) Exercise together

(E) Stay safe in the sun

119) These days ,there are a lot of sedentary entertainment activities that both adults and children
take part in,such as playing computer games,surfing the internet and watching television.Indulging
in these pastimes can result in obesity. Try to find activities for all the family to enjoy,like agame
or football in the park,a badminton match on the beach,a swim in the sea,or a walk along the
corniche.(...... )

I
20) If you do not have a balanced diet,or you follow a vegetarian diet,you may need to take
additional vitamins or supplements. If fish is lacking from your regular meals,for example,Omega
Qll supplements can be taken to promote your health and to keep your joints supple.(.....)

| il)Some sun exposure is beneficial,as its rays are a primary source of vitamin D.This substance

helps us absorb calcium for stronger,healthier bones. Too much sunhowever can cause the skin to
burn and lead to cancer. (.0l

{ 22)Everyone should eat at least five portions of fruits and vegetables a day. The easiest way to
| achieve this is to include at least one fruit or vegetable portion with each meal.Eating together as a

family is a great opportunity to encourage children to try new foods. Taking the time to talk to each

| other at mealtimes can help reduce stress levels.(...... )

’ E. Reading Comprehension

Read the following passage and answer the question as required.( 6 points)

i The average woman in England earns less than the average man. She is usually employed in a
Jower-paid job and she doesn’t have same salary. She isn’t promoted as often as the average man,
and she isn’t offered the same training.

|

In addition, most women are not educated for a job. At university, there is a high percentage of

_ Wornen studying subject like langnages and literature(68%),but in engineering, technology and

medicine the number is only(7%). Women are not interested in mathematics, either.

i Education is the only career subject with a high percentage of women. Teaching is a job which a

| lot of women choose. But teachers are not paid very highly and men are usually offered the best
1 posts.

i !
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23) In England, women usually €arn .......oovevevnenennenennn. .

4. more than men b.less than men
c. a large amount of money d.nothing at all
24) In which field of study women are studying more at university?
a. Mathematics b. Engineering and Technology
c. Medicine d. Languages and literature
25) According to the passage, in England .......ccovvvveneunenes .

a. women work harder than men
b’ .women and men are not treated the same.
c. women are richer that the man
d. women are usually poor
True / False/ not mentioned

26) In England, a large number of women are not educated for a job.(.....)
27) Women choose teaching because they love children.(.....)

28)The passage tells us that good posts are offered to women.(.....)

29) According to the passage, many teachers are women.(.....)

What is the meaning of these words in the text.
30)training 31)promote

F:Sentence Function:
Complete the following sentences using the text.(2points)
32)Examples of the subjects which women study in a low percentage at universities

-----------------------------------------------------------------------------------------------------

G:Sentence comprehension: Read the following sentences and choose the correct choice.

(3points)

34) Three months after starting school Edison ran away. His mother was forced to teach him at
home.
We understand from the above sentences that Edison.......ccoevvvevevnnnenane. .
a. was not educated at all
b. was forced to go to school by his parents
c. ranaway from his house
d. went to school only for three months
35) Postal mail takes at least a day-often a week-to get to its destination, and you must have
envelopes and stamps, and find a mailbox, while e-mail doesn’t.
We understand from the above sentence that e-mail........cccoierrinvniennnnnn.
takes a day to get to its destination
requires you to have envelopes
requires you to find a mailbox
arrives faster, and doesn’t need a stamp

oo

36) The term “Internet™ and “Web” are often used interchangeably, although this in not really
correct. The World Wide Web (or just the web) is actually one special area of the internet
according to these sentences:

a. The web is located in the internet

b. Internet in only a part of the Web

c. Internet and Web are the same

d. Without Web we can’t use Internet




| 140) A satellite is any  natural body...
| e. because they can pay them less
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H Make the items in column (A) with the approprlate phrases in column (B)to make
meaningful sentences. There in one extra item in column (B) (2 points).

A B
3{7) You can do a lot of things to a. used in order to explore deep space.
| improve your English...... b. that orbits another objects.
38) A space probe in a robot vehicle... c. because children can enjoy their childhood.

39)Employers may hire children.....
‘w d. such as listening to tapes, reading
texts and watching English films.

I Choose the best option: (2.5points)

. 4 Dol the Internet provide many services ,it has its own problems too.
, 1a)But b)Even though c)Since d)Because

7)) NRUU most of my friends go to school by bus ,I usually walk to school.

a)After b)While C)When d)Since

43)Mma fell asleep in class this morning.She .... ... : too late Jast night.
f a)must have stayed up b)must stay up c)should have stayed up d)should stay up
' J&4)He phoned the police station ........... report the robbery.

ja)in order to b)so that €)sSo as d)in order that
| 45)Mary was late for school. She ........ have got up earlier.
| a)must b)might c)should dymay

J Combine the following sentences with the words given in parentheses. (1.5point)

] 46) Rezais gomg to the bookshop. He wants to buy some books. (In order to)

.........................................................................................................

| 4;17)Ali has plenty of money. He doesn’t help the poor.(although)

-

48) I wrote down his address . [ didn’t want to forget it.(so as)

| |
K:Complete the following sentences.(Z points)

| 49)While peter works very hard,his brother........oveeeeeiernnienerneeenennnnenn.

' $0)The main difference between reading a newspaper and reading the news on the web

-----------------------------------------------------------------------------------------------
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IN HIS NAME
Iranian Schoof -Abu Dhabi

_ENGLISH FOR PRE-UNIVERSITY STUDENTS  FINAL EXAM TIME: 80 MIN
STUDENT’S NAME:.......c0v0vrrrereranennes -

Part 1. VOCABULARY
A. Match the words in column A with the definitions in column B. There is one extra definition.(2 points}
A - B '

l.agriculture a. send sb or sth into space
2. prevent b. join one thing into another
3. astronaut ¢. not public
4, launch d. the science or practice of farming
S.attach - e. help sth to grow
6. document f. a traveler into a spacecraft
7.promotion g. a piece of paper with information on it
8. private h. make someone stop doing a job
i, help for the poor

B. Fill in the blanks with one of the words from the list below. There is one extra word. (4Points)
Vehicle/ injuries/ addictive/ support / voluntary! density/ issue/ devote / suffered/financial

1. Most fathers have t§ work at two jobs to ............their family,

2. Unemployment is an important ............. in most thickly populated countries.

3. Jupiter's moon 10, whose ........... is 3.5 grams per cubic centimeter, is all rock.

4. Something such as a car that takes people from one place to another is called.............

b to the head can be very dangerous.

6. The Internet can be .............. _

7. She gladly gave up his part- time job to ......... herself entirely to her art.

8. The man worked very hard although he .......from many diseases.

C. Choose the best answer. (4 points)
[.Tryto........ how much you will have to pay over the coming year.
a. prevent b. industrialize ¢. estimate d. remove
2.In v to my brother, I am not interested in traveling,
a. addition  b.relation  c. vocation d. contrast
3. The many examples of usage are a special ............ of this dictionary.
a, feature b. sample c. artificial d. mission
4. As soon as they arrived to the town they went outto .............
a. explore b. invent c. employ d. locate
5. Only half of the emergency helps to the African people have reached their ........... :
a. presentation b. impression c. conclusion d. destination
6. Did she ........... your reasons for being late to class yesterday.
a. assume b. expect c.accept ~ d.encourage
7. Some schools in [ran are built by ......... organizations.
a.convent  b.slum * c. charity d. complex
8.1t is your ...........as a parent to protect your children.
a. duty b. community . charity d. impression

Part II: GRAMMAR

A .Choose the best answer. (4 points)
1. Some people prefer to go out on weekends, ...... others prefer to stay home.
a) as b) although c) whereas d} still




2, He worked very hard ........... he could finish his job earlier.

a) in order to b) so that ¢)soasto d) thus
3. Although we were really hungry, -—------~------
a. there was a place to stop and eat. b. we decided to stop and eat .
c. we stopped somewhere to eat . d. there was no time to stop and cat.

4. 'Did Mina take the driving test?' 'She -—-- it, but she did not.’
a. might take b. might have taken c. should take d. should have taken

B: Combine the following two sentences; use a MODAL. (2 point)
1- Susan was very happy. I’m sure she has passed all her exams.

2. Nasim got a very bad cold last night, She stayed in the rain for a long time.
C: Combine the following two sentences. (2 point)

1- He has access to internet. He doesn’t have an e-mail address. (though)

2- | gave Alice a map. She could find the way easily. (so as)

e

D: Make correct sentences. (2 points)

1- school/send/ to work/people/ whereas/others/some/to/send/their/them/children.
2~ talkative/ while/ girl/quiet/very/very/ Mina/her/ is/is/a/ brother.

Part III: READING COMPREHENSION

A. Read the following texts and answer the questions (3 poinis).

There is no simple way to stop child labor. But this is no reason for inaction. Luckily, people are
becoming aware of the serions effects of child labor.

1. It can be understood from the text that.......c.coovivriiinciiennnennen

a. Child labor can easily be stopped. b. We should do nothing to stop child labor.

c. People’s awareness of the effects of child labor may help them to stop it

d. There is no hope to solve the problem of child labor.

In 1609, the Italian scientists Galileo, was probably the first person to use a new invention- the telescope -

to observe the sky. A telescope is an instrument that magnifies, makes larger, distant ob_]ects
2. Which statement is true?

a. Galileo was the first person who used the telescope.

b. Galileo was the first person who observed the sky.

c. To observe the sky indicates the purpose behind the invention of the telescope.
d. ‘magnity’ and ‘make larger’ are in contrast

3- He should have got a university degree to find a better job. It means .....
a) since he had a university degree, he got a good job.

b} if he had got a university degree, he could get a job, but he didn’t.

c) he hadn’t had a university degree, but he got a good job.

d) although he had a university degree, he didn’t get a job.

2




B. Read the following cloze passage and choose the best answer g, b, ¢, or d, which best complete each
blank. (2points)
Modern cars are really well- equipped. They include a lot of modern devices which...1...their safety. Computer
technology...2...in these vehicles helps the drivers control them!more carefully and ...3....possible accidents.
One of the newest systems used in cars is a sensor which predicts the...4... between the following or preceding
vehicles and the car which is moving. '

I, a. decrease b.increase  c. destroy d. prevent
2. a. which used b. using c. used d. was used
3. a. prevents b. causes c. presents d. pretends

4. a. kilometer  b.distance  c. damage d. problem

C. Read the following passages and answer the questions. (5 points)
Passage: one

Information technolegy is any equipment or system that is used in the reception, storage, and
management of data and information. The 21st century is said to be the age of data and
information in science and technology. The powerful countries of the world are the ones with
higher information and wmore technology production. Fortunately, it is possible to gain
information in different subjects by internet. Almost every house has a computer set and people,
especially students, are encouraged to use computer in order to increase their knowledge about
what they need. IT is going to cover a greater part of our life.j;*It is time to see what it can do for
us, in details.

1- This passage is mainly about .......cocouveennns .
a. IT in advanced nations
b The importance of IT in our life
¢. World of science and knowledge
d. PCs in people’s houses

2- According to the passage ........ccccovevivervninnns .
a. information is the sign of power
b. power is not important at all.
c. Technology production is difficult
d. IT is very expensive to gain

3- The writer believes that people .....ocoveennnnen. computers.

a. rarely use b. can not afford to buy c. commonly use d. use special

4- The word ‘ones’ refers to ...ocovviieniainn .

a. all countries b. powerful countries c. personal computers d. technology services

5- 1T is not used for the storage of data. True ........ False ......... No information ..........

6- Internet is not limited to special subjects. True ........ False ......... No information ............
GOO0OD LUCK TO YOU

A. Beedi
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In His Sublime Name
Islamic Republic of Iran
Ministry of Education
Department of Schools Abroad
Itanian Schools Directorate In the VAE
Tohid Boys High School

English Exam Question Sheet Time: 75Minutes  Student Name:
Gradel®Z I TIR 89

RENBS RESREXRERS * * FERESBRS BEERE

VOCABULARY
A. Fill in the blanks with

the given words. (3 points)

(apprentice, construction, rural, urban, trader, sample, compose, union, right, Issue, private)

1. The researchers did the experiment witha ........... of 10,000 people all over the country.

2. In many cases, training is done on the job while the person learning the job works
for an employer who helpsthe ........cccoeininn leatn his trade.

2, The president of the country hasa .....................plane.

4. Ttisvery a5y 10 .ooovviiiiniiniiiinn mall.

5. Whatever the law allows people to do is called ................ of the people.

6. People who live in the countryside are called..................

B. Fill in the blanks with
words of your own. (7

points)
7. Things like cameras, mobile phones, computers, etc which are small enough to be
held in the hand are called .. .ovvvvenenn. devices.

8. A period of time away from work devoted to rest and relaxation Is called ..........
9. Cats, dogs, and mice which are kept at home are called ... ; they are not wild.
10. A person who is travelling in a spacecraftis called ...............
1. T}E:e system which includes the Sun and all the celestial bodtes that orbit the Sun is called
£ 13 N —

12. Buildings for nunsare called ...
13. Changes in the way people of a soclety think or behave are called ............. movements.

STRUCTURE
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C. gelect the BEST choice to £ill in

the missing parts in the following

sentences. (1 points)
14. ‘Do you know why Jake did not come to school yesterday? i think he ...have

missed the school bus.”  A.should ~ B.would  C.may D. could
15. You should exercise requlatly ......o.cooins you can keep fit.
A. In order to B. while C.though  D.sothat

D. Combine each pair of these ?
sentences into one with the same
meaning. (4 points)

16. Kim has plenty of money. She wears old shoes. although)

17. The 11-year-old Tim works in 3 car factory. His father is a very tich man. (whereas)

18. | wrote down his address. | didn’t want to forget it. (so as not to)
19, Ben is saving money. He has decided to buy 3 football. (so that)

READING COMPREHENSION

E. Read the following sentences and select
the BEST choice to complete the sentences.
(3 points)

IT combines ......20.......with high-speed communication ......21......... that carry
data. Computers ......22.......information. Systems for communicating over long
distances ate supported by ......23......technology. [t is very easy to ... 24.... .. onto
other computers. The internet Is ... 25.......; after some time, you feel the need tosit
at your computer as often as possible.

20.A. alculating B. networking C. communicating  D. computing s
21. B. links B, servers C. forwards D. transfers ‘
22.A.do B. make C. process D. possess
23.C. data B. document C. continuousD. telecommunications
24.A. search B. log C. register D. access

D.

.
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25. A, predictive B. assertiv

repetitive addictive
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F. Read the following passage and
answer the questions followed.

(3.5 points) |

Parvin E'tesam was the greatest women poetess in the history of lran. She was bom in
Tabtlz In 1906 A.D. She left Tabriz to Tehran with her family in 1912 and lived there. Her
toys were books, Her fther also was a famous poet. She, with her shott life, became one
of the greatest poetesses in Iran. She learnt Persian and Arabic literature from her father
and began to compose her poems when she was 8. She finished high school in “Tehran
Ametican Girls’ School” and then started teaching there. The first complete works of hers
were published in 1935, Her poems are about the poor and the oppressed? people; they are
wonderful and fantastic®. She died a short time after her father’s death in 1941 and was
butied In Qom and a poem she herself had composed was written on her shrine.

26. Where did Parvin spend her life?

27. When did she start writing poems?

28. Parvin’s father had a short lifetime. (True/False/Not mentioned)

29. Patvin loved books. (True/False/Not mentioned)
30. No other poetess has been more successful than Parvin so far. (True/False/Not mentioned)

1) Literatureolysl
2) Oppressed:oy205m
3) Fantastie: eslalldyls

G. Read the following passage and
answer the guestions followed. (4.5
points)

Abu Alf al-Hussaln 1bn Sina (Avicenna) was born in 980 A.D. in Afshana near Bukhara, a
part of Iran. The young Bu All received his early education in Bukhara, and by the age of
ten, he had become well versed! in the study of the Quran and various? sciences. He
started studying philosophy by reading various Greek, Muslim and other books on this
subject and learnt logic? and some other subjects from Abu Abdallah Natili, a famous*
philosopher of the time. While still young, he attained? such a degree of expertise® in
medicine that his fame” spreads far and wide. At the age of 17, he was fortunate? in curing
Nooh Ibn Mansaor, the King of Bukhhara, of an illness in which all the well-known
physicians®© had given up hope. On his recovery™, the King wished to reward him, but the
young physician only desired' permission to use his uniquely™® stocked™ library.

31. Avicenna read only Iranian weftten documents. (True/False/Not mentioned)

32, A well-known philosopher taught Avicenna logic. (True/False/Not mentioned)

33, Avicenna used natural medicine to cure Nooh when he was very young. (True/False/Not
mentioned)

34. History does not know where Avicenna s from. (True/False/Not mentioned)

35. Avicenna was a gteat doctor. (True/False/Not mentioned)

36, Avicenna wanted the king of Bukhara to let him use an equipped library. (True/False/Not mentioned




-,
»

¢ . L
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37. Avicenna was good at many sclences. (True/False/Not mentioned)
38. How did Avicenna study philosophy? ........ccccovinvveicnnn.

1 VEFSEd:JﬁLﬂ ‘

2) varlous: different

3) Logic: (ki

4) Famous: well-known

5) Attain: get

6) Expertise: powaidl 62 e

7) Fame: <ieh

8) Spread: 38 tay S8

9) Fortunate: lucky

10) Physicians: general doctor

11} Recovery:nSagsps

12) Deslre: want; like

13} Uniquely: suilogy

14} Stocked: equipped e .
H.  Read the following paragraph and f£ill

in the missing parts with the given words.

(4 points)

(financial, permitted, showed, charity, devoted, promoted, suffering, voluntary,
slums, impression, various, awards, religious)

The .ooocin. 39, of the poor made 3 deep ......40......on Mother. Higher officials
......... 41... . her to start her own ......42.......community to do ......43...work.

Mother enjoyed helping people [iving In ......44...... She also ...45.......peace and

brotherhood among nations. She received many ......46.....before she died 1n1997.

38. 40.
4%1. 42.
WE WISH YOU GOCD LUCK
43. 44.
45, 48,
OMRANNOORI®YAHQQ . COM
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